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5th Semester Examination

CHEMISTRY (Honours)

Paper : C 14-T

[Physical Chemisty-V]

[CBCSI

Full Marks : 40 Time : Two Hours

The figures in the margin indicate full marlcs.

Candidotes are required to give their answers
in their own words as .far as practicable.

Group - A

Answer any Jive questions :

1. Define quantum yield.

2. Out of the two solutions, KrCrrO, and, KHrPQ which

one can be quantitatively estimated by spectroscopic

method using Larnbert-Beer's law in the visible range of
radiation? Give appropriate explanation for your answer.

3. Write differences between adsorption and absorption.

4. Calculate the work done to broken a water drop of
I mm radius into a million droplets [Given, y(wate$ :
72.75 erg cm'].

5. What is Z,eta potential?
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(d)

16. (a)

(b)

(4)
If there is +1.0% effors in the determination of the

rotational constant (f ) n, of a diatomic molecule,

calculate the percentage error in its bond length

measurement.

State and explain mutual exclusion principle.

3+2+3+2

What is Morse potentiai?

How classical mechanics explain the origin of
Raman spectrum?

COris green house gas but O, is not. - Explain.

The vibrational energy levels of CO molecules is

given by the expression -
r,(in L)= 4.3xr0-" (v -I)-Q t.l0-")(r+l)'

Calculate the force constant.

(c)

(d)

2+3+2+3


